$tine = O;

$Q = 1;
$Q = 0;
$x 0;
$y

non
=

$clk = 1;
$D = 0;

$nl
$n2
$n3
$n4
$n5
$n6

erkhiRoR

print "time=$tine - clk=$clk,
n2=$n2,

ni=%$n1,

CLK

n3=%$n3,

n4=$n4,

for ($time=0; $time < 40; $time ++) {

$new nl = ($n4 && $n2) ? 0 : 1;

$new n2 = ($clk && $n1) ? 0 : 1;

$new n3 = ($clk && $n2 && $n4) ? 0 :

$new n4 = ($D && $n3) ? 0 : 1;

$new n5 = ($n2 && $n6) ? 0 : 1;

$new n6 = ($n3 && $n5) ? 0 : 1;

$nl = $new ni;

$n2 = $new n2;

$n3 = $new_n3;

$n4 = $new_n4;

$n5 = $new _n5;

$n6 = $new_né;

$x = $n2

$y = $n3

$Q = $n5;

$Q = $n6

print "time=$tine - clk=$clk,
nl=$n1l, n2=%$n2, n3=$%$n3, n4=%n4,

if (Stime == 4 || $time == 20) {
$clk = 0;

}

if ($tinme == 12 || $tine == 28) {
$clk = 1;

}

if ($tinme == 17) {
$D = 1;

}
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D=$D, Q=$Q Qo=%Qv,
n5=$n5,

D=$D, Q=$Q Q=%Qv,
n5=$n5,

. y=%y,

. y=%y,

Ql



